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101|R#A7 L 462 94 368 Kg |&)I 2,160 864| &/l 3,240 864
102|357 L 1,782 1,782 Kg BIE 1,566 532
111|&EEF £ 131 131| Kg K5 - Al 1,728 432
113|RAV S 35 5 30| Kg |EE 1,620 270|FE 3,240 2,376
114|B5EFE 212 212| Kg BRE - &E 2,700 216
15[ 1= 2 1 1| Kg |EE 1,727 FfE 2,160

117[1E 3 3 Ke R 3,780
121|rblE &€ 16 11 5| Kg |ERE 2,268 594|FfE 2,160 864
134[#= = 364 174 190| Kg |k% - =4 2,700 1,400| & 5,940 1,512
137|&5ES. < 103 67 36| Kg |EIF 3,240 2,160 | K i 4,860 4,104
138|Hm % 2 36 36| Kg FE 1,188 1,080
140(5 I 23 23| Kg b 40,320 22,500
147|EZ O 109 109| Kg |EE 5,400 b 7,020 4,000
168|BIEM AL H 210 210| Kg FIE 2,160 1,512
201|{Lb L 808 808| Kg R - R 486 108
203|/Né L 96 96| Kg = 324 297
206| = 1F 521 521| Kg = 840 395
208| Mo % 216 216| Kg L 1,836 432
210|1F ALy 20 20| Kg KI5 1,445
212|&FE3 Y 459 459|  Kg FIE 1,998 972
251|< B %<3 302 302| Kg = 3,996 3,024
252|L0AEECH 75 75 Kg |8 2,592
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254|ED12ELCA 583 583| Kg 2Pl 3,186 648
3031 A 7Ly 56 56 Kg i 864 684
305[£Aah 0% 8 8] Kg . 7,020 1,782
319|2h o 212 212 Kg B - BE 4,104 1,100
332|= 13 WA =EF 187 187 Kg Bl = 3,024 2,052
351(4EH 20 5 15| Kg [®E 3,240 =, 9,720 5,940
35411FxE<Y 289 289 Kg FIE 2,808 1,053
355(mp Y 140 140 Kg A - BE 1,728 600
356(L L& 35 35 Kg SR 1,296 810
357|7RE 44 10 34| Kg |&S 1,620 FRE 1,944 1,148
358|KE 5 5| Kg FA 2,808

362| & 339 4 335 Kg R 1,944 fe 1L 9,360 468
4025 E 12 12| Kg FAN 6,048 5,184
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A—JLWLh 20 201 Kg 2P 864 810
AEA L 500 500 Kg JbiF 1,450 400
AERBAT AT 1,574 1,574 Kg 2P 3,672 473
BRCZEZV 42 421 Kg 2yl 1,680 1,620
E A AE 140 140] Kg F 950 820
TRE 146 146] Kg JbiF 1,264 756
AT Z 544 544 Kg 2P 3,500 650
A E T 966 966 Kg 7 - dbF 1,836 980
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70110 BA 354 354 Kg FJE 2,977 1,458
704|LWb LET 7 T Kg =) 2,808
710(2 2 AT 33 33 Kg Ko 1,404 525
BlEFAI L 360 324 36| Kg |B1R 667 640|51R 2,592 1,145
755|FH&» C 251 251 Kg EE 710 389
56| £ T 22 22| Kg RIF 1,588 1,152
759(.5BE£ E 12 12] Kg =51 1,260
7611 b BHAEL 12 12 Kg AL 1,980
76713725 W\ H 144 1441  Kg FJE 1,980 1,728
801 [IEAL = 1S 1,498 1,498| Kg tmE - mA 2,700 454
802|1 x| 270 270 Kg gl 1,674 886
8051 1E 105 1051 Kg biF 1,037 459
807 [18H D F 6 6 Kg bF 5,076
810|FAKXF 141 141 Kg B =2 2,638 1,674
815|—¥9 A ZE 10 10| Kg bmE 572
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